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u x, t 3 tanh (x-2t) =

30 

20 

10 

0 

-10 

x 

6 

2 
-2 

-6 
t 

u(x, t) 

2.2 
2.4 

2.6 

2.8 

V
al

ue
s 

Values Values 

 

30 

6 
2 

-2 
-6 

t 

u(x, t) 

2.2 
2.4 

2.8 
2.6 

18 

0.6 

-0.6 

-1.8 

x 

V
al

ue
s 

Values Values 

 

6 

t 

u(x, t) 

2.2 
2.4 

2.8 
2.6 

30 

x 

2 

-6 
-2 

20 

10 

0 

-10 

Values Values 

V
al

ue
s 

 
 
 
 
 
  

6 

t 

u(x, t) 

2.2 
2.4 

2.8 
2.6 

8 

x 

2 

-6 
-2 

5 

2 

-2 

-5 

Values 
Values 

V
al

ue
s 



6 

t 

u(x, t) 

2.2 
2.4 

2.8 
2.6 

150 

x 

2 

-6 
-2 

100 

50 

0 

-50 

V
al

ue
s 

Values 
Values 

6 

t 

u(x, t) 

2.2 
2.4 

2.8 
2.6 

200 

x 

2 

-6 
-2 

150 

50 

0 

100 

V
al

ue
s 

Values 
Values 



( )
( ) ( )

2
0 1 1 0 1-1

1 1 2 2 1 2 -2
1 0 1 1

2 -1
0 0 13 2 2 2 3 3

0 0 1 0 1 1 2
1

2 -1 2 3 -3
1 0 1 1 1

3 -1 -3 -1
1 1 1 1 1

0

a +2a b +2a a Y+
- a +a Y+b Y + +

2 a Y +2a b Y +b Y

a Y +2a a +
a +3a a Y+3a a Y +a Y +3

a Y
3

b +3 a Y +a Y b +b Y

-2 a Y-a Y -b Y +b Y +2b Y -2Y +Y 0

+

−

−

 
λ   

 

6 

t 

u(x, t) 

2.2 

2.4 

2.8 
2.6 

1 

x 

2 

-6 
-2 

0.2 

-0.6 

-1.4 

-2.2 

Values 
Values 

V
al

ue
s 



-0.6 -0.2 
0.2 0.6 

1.0 

1000 

600 

200 

-200 

-600 

u(x, t) 

x 
Values 

V
al

ue
s 



3

22 3

2 2 4

2 3 4

-3 +2 +2 A

+
-5 +3 0

ξξξ ξξ ξ ξ

ξξ ξ ξξξ ξ ξξ ξ

ψ ψ ψ ψ

ψ ψ ψ

ψ ψ

 
γ  

 
 

=  


ψ ψ

ψ 

ψ ψ

ψ ψ

( )
( )

( )

( )
( )

2 2

2
1 2 1 2

2 2
2 1 0 2 1

2
2 2

0 1

0 0

A +12 A 0

A A +2 A -5 A 0

- A + A +2A A -3 A +
2

2 A +2 A 0

A - A 0

A -2 A 0

ξ ξξ ξ

ξ ξξ ξ

ξξ ξ ξξξ

ξ ξξξ

ψ

δ
ψ ψ

ψ ψ ψ

δ γ =

 δ γ ψ γ ψ = 
 λ ψ γ  

γ γ =

 δ λ ψ + γψ = 
δ λ =

10 

6 

2 

-2 

-6 

x 
0.2 

0.4 
0.6 

0.8 3 

1 

-3 

u (x, t) 

t 

-1 

Values Values 

V
al

ue
s 




	10888-10895 - Copy_Page_1
	10888-10895 - Copy_Page_2
	10888-10895 - Copy_Page_3
	10888-10895 - Copy_Page_4
	10888-10895 - Copy_Page_5
	10888-10895 - Copy_Page_6
	10888-10895 - Copy_Page_7
	10888-10895 - Copy_Page_8

